
1 https://jpw-catalog-qa-b2c-5.corevist.cloud/ghb-1340a-follow-rest
7/19/25

GHB-1340A Follow Rest
Product Images

https://jpw-catalog-qa-b2c-5.corevist.cloud/ghb-1340a-follow-rest


2 https://jpw-catalog-qa-b2c-5.corevist.cloud/ghb-1340a-follow-rest
7/19/25

Description

Index Number Part Number Description Size Qty

1  GHB1340-1FR  Knob  2

2  GHB1340-2FR  Pin  3x18 2

3 10208  Bushing  2

4 10204  Screw  2

5 10201  Sleeve  2

6 10401  Brass Finger  2

7  TS-1523011  Set Screw  M6x8 2

8  TS-1540041  Nut  M6 2

9  TS-1523051  Set Screw  M6x16 2

10  10104G  Base Casting (For GHB-1340A/BDB-1340A)  1

  C0636A-10104G  Base Casting (For GHB-1440A)  1

11  TS-1504071  Hex Socket Cap Screw  M8x35 2

  GHB1340-FRG  Follow Rest Complete (For GHB-1340A/BDB-1340A)  1

  GHB1440A-FRG  Follow Rest Complete (For GHB-1440A)  1

Additional Information

Stock Number 321119-17

Products in this set

https://jpw-catalog-qa-b2c-5.corevist.cloud/ghb-1340a-follow-rest

